CCGPS Analytic Geometry Dilations Day 2

1. Graph the dilated image of quadrilateral MNOP using a scale factor of 3 and the origin as the center of

dilation
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2. Graph the dilated image of quadrilateral MNOP using a scale factor of 3 and center of dilation at (1.1)
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3. Graph the dilated image of triangle JKL using a scale factor of 2 and (-1,2) as the center of dilation.
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4. Graph the dilated image of quadrilateral MNOP using a scale factor of 3 and (1,1) as the center of dilation.
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5. Graph the dilated image of quadrilateral MNOP using a scale factor of 1/3 and (3, 3) as the center of dilation.
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1. Graph the dilated image of quadrilateral MNOP using a scale factor ofXand the orﬁn as the center of
dilation /\ 4 Y
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2. Graph the dilated image of quadrilateral MNOP using a scale factor of 3 and center of dﬂatlon at ( 1.1)
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3. Graph the dilated image of triangle JKL using a scale factor of 2 and (-1,2) as the center of dilation.
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4. Graph the dilated image of quadrilateral MNOP using a scale factor of 3 and (1,1) as the center of dilation.
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5. Graph the dilated image of quadrilateral MNOP using a seale factor of 1/3.4nd (3, 3) as the center of dilation.
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